MATH 102 [Solution Homework 3]

1. 1. Q 13(c): Sketch the region whose signed
area is represented by the definite integral

]|2x—3fdx. Then evaluate the integral
=

using appropriate formula from geometry.
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1i. Q22 (a): Use the properties of Definite

integral and appropriate formula from

4
iii. Q33: Evaluate [Vxdrby using the
o
definition of  Riemann Integral:
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subintervals of unequal length are given by
the following partition of [0.,4]
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x, 1is the right end point of the A"

subinterval.
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4. Evaluate the integrals:
-2/4f3 dt
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5. Let F(x)= [\/sin’(*’~7)+3dr. Find
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6. Find the values of x* in the interval [1,3]
that satisfies the conclusion of the Mean
Value Theorem of Integrals for the

funcuon F@ =%,
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